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 : (1) -I      . 
  (2) -I      . 
  (3) -II   -5  . 

 
 – I 

 
1.   .  . 31-3-2020       : 20 

  ` 
I.    :   
 (1)     
  ()    
   14,400    ` 100    14,40,000 
   5,400, 12% .   ` 100   5,40,000 
  ()    :   
       1,80,000 
       1,50,000 
       5,00,000 
         40,000 
 (2)    :   
  ()    :   
    10%   3,60,000 
  ()   :   
        72,000 
       2,70,000 
          90,000 
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 (3)   :   
  ()   :   
      3,06,000 
  ()   :   
     :   
      64,800   
      1,87,200  2,52,000 
       42,00,000 
   

II.  :   
 (1)    :   
  ()   :   
   (i)     
     -  10,80,000 
     -  14,40,000 
   (ii)   :   1,50,000 
  ()    :   
    10%     
    (  )  2,70,000 
    15%  .     
    (.. ` 1,80,000)  1,62,000 
  ()     :   
       54,000 
 (2)   :   
  ()  :   5,40,000 
  ()   :   
      1,80,000   
    :  .     18,000  1,62,000 
  ()         2,80,000 
  ()    :   
        62,000 

      42,00,000 
   



JL-114  3 P.T.O. 

   .      .        
   : 

 (1) -      15%  ,      
    15%  .  

 (2) 20%       20%  .  
 (3)    .  

 (4)     50%        .  
 .  

  (`) 
2017-2018 16,20,000 
2018-2019 21,60,000 
2019-2020 25,20,000 

 
 (5)    10% .  
 (6)          .  

 
2. . 31-3-2020   .       : 20 

  ` 
I.    :   
 (1)     
  ()    
   ` 10         9,00,000 
   12%   .   ` 10    3,60,000 
  ()    :   
       2,88,000 
       2,52,000 
 (2)    :   
  ()    :   
    7%   1,80,000 
  ()   :   
        
      1,08,000   
      72,000  1,80,000 
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 (3)   :   
  ()   :   3,24,000 
       1,26,000 
  ()    :   
         18,000 
       26,28,000 
   II.  :   
 (1)    :   
  ()   :   
   (i)     
       8,28,000 
       3,78,000 
       1,62,000 
   (ii)   :   90,000 
  ()    :   
    10%  (                            

` 1,80,000,   ` 2,16,000) 
  

1,62,000 
        1,08,000 
  ()     :    18,000 
 (2)   :   
  ()  :   3,78,000 
  ()   :   
      4,68,000   
    :       18,000  4,50,000 
  ()      :   
       54,000 

      26,28,000 
   

   : 
 (1)        20%  . 
 (2)       10%    .  
 (3)   ` 3,13,200  .  
 (4)        .  
 (5)       20%      .  
 (6)       12% .  
 (7)   4  50%     ` 6,48,000 . 
        .  
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3. (A)    .  . 31-3-2020       
   : 10 

       ` 2,70,000   ` 1,80,000  
 .       . . 31-3-2020    
 12%     . 

      . 31-3-2020    . 31-5-2020   
 80        . 

        . 
 (B)         . 31-3-2020     

“-” -    : 10 
 ` 

(1)  30,00,000 
(2)  5,00,000 
(3)   28,80,000 
(4)   9,36,000 
(5)   2,88,000 
(6)  7,20,000 
(7)   11,52,000 
(8)    2,16,000 
(9)   -    5,76,000 

            . 
 
4. . 31-3-2020   .    .          

 :    20 
  ` 

I.    :   
 (1)     
  ()    
   21,600  ,  ` 100   21,60,000 
 (2)    :   
  ()    :   
    12%   3,60,000 
         1,80,000 
  ()   :   
       64,800 
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 (3)   :   
  ()   :   5,04,000 
  ()    :   
          43,200 
        18,000 
      :   
     2019-20 1,08,000   
     2018-19    18,000  1,26,000 
       34,56,000 
   

II.  :   
 (1)    :   
  ()   :   
   (i)     
     -  12,60,000 
       5,58,000 
   (ii)   :   2,34,000 
  ()    :  2,52,000 
  ()     :    
        46,440 
    -   5,32,800 
 (2)   :   
  ()  :   2,70,000 
  ()   :   2,59,200 
  ()      :   
          43,560 

      34,56,000 
   



JL-114  7 P.T.O. 

       -   : 
 (1)     : 
     ` 
   - 15,12,000 
     3,96,000 
     1,98,000 
    1,62,000 
     ` 2,70,000        . 

 (2)   .  30-6-2020   . 
 (3)   ` 36,000 . 

 (4)       2%     
  2%  . 

 
 – II 

 
5.     : (  )  10 
 (1)           ? 
  (a)  (b)   
  (c)    (d)   
 (2)             

   ? 
  (a)   (b)     
  (c)   (d)    
 (3)        ` 4,05,000 .    ` 36,00,000 

.     10%           
. 

  (a) ` 1,53,000 (b) ` 3,15,000 
  (c) ` 3,60,000 (d) ` 1,35,000 
 (4)        : 
  (i)     ` 360 

  (ii)   45%  
  (iii)    ` 100 ,    ` 80  .  

  (a) 12.5% (b) 8% 
  (c) 10% (d)    
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 (5)     ` 100 ,   ` 268 ,   ` 280   
  ` 230       _____ . 

  (a) ` 249 (b) ` 255 
  (c) ` 274 (d) ` 247 
 (6)         ? 
  (a)   (b)   
  (c)   (d)   
 (7)    (NPA)       _____    

. 
  (a)   (b)    
  (c)   (d)   
 (8)              ? 
  (a)   (b)   
  (c)     (d)   
 (9)      _____   . 
  (a)  (b)  
  (c)    (d)  
 (10)        ? 
  (a)  (b)  
  (c)   (d)   
 (11)               

        ? 
  (a) 14  (b) 5  
  (c) 30  (d) 10  
 (12)       ` 7,91,967   .   

     3%   .   
    ? 

  (a) ` 7,68,900 (b) ` 23,067 
  (c) ` 7,68,208 (d) ` 23,759 

_____________ 
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Seat No. : _______________  JL-114 
January-2021 

B.Com., Sem.-III 
CE-202 (A) : Corporate Accounting 

Time : 2 Hours]  [Max. Marks : 50 
 Instructions : (1) All Questions in Section I carry equal marks. 
   (2) Attempt any TWO questions in Section I. 
   (3) Question 5 in Section II is COMPULSORY. 
 

SECTION – I 
1. The Balance Sheet of Aarvi Ltd.  as on 31-3-2020 is as under :  20 

Particulars Note ` 
I. Equity and Liabilities :    
 (1) Shareholder’s funds :   
  (a) Share capital :   
   14,400 equity shares of ` 100 each  14,40,000 
   5,400, 12% pref. shares of ` 100 each  5,40,000 
  (b) Reserve and Surplus :   
   Securities premium  1,80,000 
   Profit & loss account  1,50,000 
   General reserve  5,00,000 
   Workmen’s compensation fund  40,000 
 (2) Non-current liabilities :   
  (a) Long term borrowings :    
   10% debentures  3,60,000 
  (b) Long term provisions :   
   Workmen’s profit sharing fund  72,000 
   Provident fund   2,70,000 
   Depreciation fund of plant and machinery  90,000 
 (3) Current liabilities :    
  (a) Trade payables :   
   Creditors  3,06,000 
  (b) Short term provisions :   
   Proposed dividend :   
    preference 64,800   
    equity 1,87,200  2,52,000 
     Total  42,00,000 
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II. Assets :   
 (1) Non-current assets :   
  (a) Fixed assets :   
   (i) Tangible assets :   
    Land and Building  10,80,000 
    Plant and machinery  14,40,000 
   (ii) Intangible assets : Goodwill  1,50,000 
  (b) Non-current investments :   
   10% Govt. securities    
   (Investment of P.F)  2,70,000 
   15% Debentures of Reliance Ltd.   
   (Face value ` 1,80,000)  1,62,000 
  (c) Other Non-current assets :   
   Preliminary expenses  54,000 
 (2) Current Assets :   
  (a) Inventories : stock  5,40,000 
  (b) Trade receivables   
    Debtors 1,80,000   
    – B.D.R.     18,000  1,62,000 
  (c) Cash and cash equivalents : Bank balance  2,80,000 
  (d) Other current assets :   
    Prepaid expenses  62,000 

    Total  42,00,000 
   

 The Kinjal Ltd. wants to purchase the business considering the following information. 
Calculate the goodwill.  

 (1) Market price of land & building is 15% more than the book value, while that of 
plant & machinery is 15% less than the book value. 

 (2) Market price of 20% of stock is 20% more than the book value. 
 (3) All the debtors are good (solvent). 
 (4) The profit (before providing 50% tax) of the last three years are as under. 

Calculate on the basis of weighted average.  
Year Profit (`) 

2017-2018 16,20,000 
2018-2019 21,60,000 
2019-2020 25,20,000 

 (5) The expected rate of return of company is 10%.  
 (6) The goodwill of the company for this purpose is agreed to be valued at 3 years 

purchases of the super profit basis.  
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2. The Balance Sheet of Krunal Ltd. as on  31-3-2020 is given below : 20 
Particulars Note ` 

I. Equity and Liabilities :   
 (1) Shareholder’s funds :   
  (a) Share capital :   
   Equity share capital (fully paid shares of ̀  10 each)  9,00,000 
   12% cum. pref. share capital of ` 10 each 

fully paid up 
 3,60,000 

  (b) Reserves and surplus :   
   General reserve  2,88,000 
   Profit & Loss a/c  2,52,000 
 (2) Non-current liabilities :   
  (a) Long term borrowings :   
   7% debentures  1,80,000 
  (b) Long term provisions :   
   Depreciation fund   
     Building 1,08,000   
     Machinery 72,000  1,80,000 
 (3) Current liabilities :   
  (a) Trade payables : Creditors  3,24,000 
         Bills payables  1,26,000 
  (b) Other current liabilities :   
    Outstanding expenses    18,000 
     Total  26,28,000 
   II. Assets :   
 (1) Non-current assets :   
  (a) Fixed assets :   
   (i) Tangible assets   
    Building  8,28,000 
     Machinery  3,78,000 
    Furniture  1,62,000 
   (ii) Intangible assets : Goodwill  90,000 
  (b) Non-current investments :   
   10% investments (face value of ` 1,80,000, 

market value ` 2,16,000) 
 1,62,000 

    Shares in subsidiary company    1,08,000 
  (c) Other non-current assets : Preliminary exp.  18,000 
 (2) Current assets :   
  (a) Inventories : Stock  3,78,000 
  (b) Trade receivables :   
            Debtors 4,68,000   
     – B.D.R.     18,000  4,50,000 
  (c) Cash and cash equivalents :   
    Cash balance  54,000 

    Total  26,28,000 
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 Other information : 
 (1) The market value of building is 20% more than its book value.  
 (2) Stock is to be valued at 10% less than the book value.  
 (3) Goodwill is valued at ` 3,13,200.  
 (4) Cumulative preference dividend is in arrears for 2 years.  
 (5) The company transfers 20% of its profit after tax to general reserve every year.  
 (6) The expected rate of return on equity shares is 12%.  
 (7) The average profit of the company before tax at 50% for the last 4 years is            

` 6,48,000.   
  Calculate the fair value of the equity shares of the company.  
 
3. (A) While closing the books of accounts of Valsad Commercial Bank Ltd. as on               

31-3-2020 the following information was found : 10 
   In the loan ledger ` 2,70,000 and overdraft ` 1,80,000 was as unsecured 

balance in the account of Shri Vinodbhai, whose financial position was reported to be 
bad and doubtful. The interest was charged at 12% p.a. for the year ending on              
31-3-2020.  

   On 31-5-2020 the bank accepted 80 paise in a rupee on account of the total 
debts of Shri Vinodbhai upto 31-3-2020 and settled his account.  

   From the above transactions pass Journal Entries in the books of the Bank. 
 
 (B) From the following information, prepare Profit and Loss A/c (Form ‘B’) for the 

year ending on 31-3-2020 for the Vasava Bank Ltd.  10 
Particulars ` 

(1) Share capital 30,00,000 
(2) Gold 5,00,000 
(3) Interest earned 28,80,000 
(4) Operating expenses 9,36,000 
(5) Other Income 2,88,000 
(6) Deposits 7,20,000 
(7) Interest expended 11,52,000 
(8) Provisions and contingencies 2,16,000 
(9) Credit balance of last year’s P & L a/c 5,76,000 

 Minimum necessary amount as per the Act is to be transferred to Statutory Reserve 
Account. 
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4. Prince Ltd. went into a voluntary liquidation on 31-3-2020. The Balance Sheet as on 
that date was as under :   20  

Particulars Note ` 
I. Equity and Liabilities :   
 (1) Shareholder’s funds :    
  (a) Share capital   
   21,600 equity shares of ` 100 each  21,60,000 
 (2) Non-current liabilities :   
  (a) Long term borrowings :   
   12% debentures  3,60,000 
   Loan secured by charge on investments  1,80,000 
  (b ) Long term provisions :   
   Provident fund  64,800 
 (3) Current liabilities :   
  (a) Trade payables : Creditors  5,04,000 
  (b) Other current assets :   
   Outstanding interest on debentures   43,200 
   Outstanding salary of clerk  18,000 
    Local tax :   
     2019-20 1,08,000   
     2018-19    18,000  1,26,000 
     Total  34,56,000 
   II. Assets :   
 (1) Non-current assets :   
  (a) Fixed assets :   
   (i) Tangible assets :   
    Land & building  12,60,000 
    Machinery  5,58,000 
   (ii) Intangible assets : Goodwill  2,34,000 
  (b) Non-current investments :  2,52,000 
  (c) Other Non-current assets :   
    Advertisement suspense account  46,440 
    Profit & Loss Account  5,32,800 
 (2) Current assets :   
  (a) Inventories : Stock  2,70,000 
  (b) Trade receivables : Debtors  2,59,200 
  (c) Cash and cash equivalents : Cash balance    43,560 

    Total  34,56,000 
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 Considering the following information, prepare Liquidator’s Final Statement of Receipt 
and Payment.   

 (1) Assets were realized : 
     ` 
   Land & Building 15,12,000 
   Machinery 3,96,000 
   Stock  1,98,000 
   Debtors  1,62,000 
  Creditors of the loan have sold the investments for ` 2,70,000 and the additional 

amount was returned to the liquidator.  
 (2) The debenture holders were paid off on 30-6-2020.   
 (3) Liquidation expenses amounted to ` 36,000. 
 (4) The liquidator is entitled to a remuneration at 2% on the amount realized on assets 

by him and 2% on amount distributed to shareholders.  
 

SECTION – II 
5. Choose the correct option : (any five)  10 
 (1) What is the capitalized value of average profit on the basis of expected rate of 

return ?   
   (a) Goodwill (b) Super profit 
    (c) Weighted average profit (d) Capitalization of profit 
 (2) Which of the following detail is taken into account while calculating capital 

employed for valuation of goodwill ?  
   (a) Preliminary expenses (b) Workmen’s compensation fund 
   (c)  General Reserve  (d) Worker’s profit sharing fund 
 (3) In a business adjusted net profit amounted to ` 4,05,000 and the capital invested 

is ` 36,00,000. If the expected rate of returns is 10% and the goodwill is valued at 
3 years purchase of super profit, the value of goodwill will be   

  (a) ` 1,53,000 (b) ` 3,15,000 
  (c) ` 3,60,000 (d) ` 1,35,000 



JL-114  15 P.T.O. 

  (4) Find out the expected rate of return from the following information : 
   (i) Market value of equity share ` 360 
   (ii) Rate of dividend 45%. 
   (iii) Equity shares of ` 100 each on which ` 80 is paid up.   
   (a) 12.5% (b) 8% 
   (c) 10% (d) None of the above 
 (5) In the case, when face value of equity share is ` 100, Intrinsic value of ` 268, 

market value is ` 280 and expected value is ` 230. The fair value of the equity 
share will be  

   (a) ` 249 (b) ` 255 
   (c) ` 274 (d) ` 247 
  (6) On which value of the share, company gives dividend ?  
   (a) Fair value (b) Market value 
   (c)  Face value  (d) Intrinsic value 
 (7) In which account is the interest accrued on non-performing assets, deposited on 

the date of maturity ?    
   (a) Profit & Loss account (b)  Interest suspense account 
   (c)  Interest account (d) None of the above 
 (8) The expenses of special audit suggested by Reserve Bank in public interest will 

be borne by   
   (a) Government of India  (b) Banking company itself 
   (c) Central Bank of India  (d) Reserve Bank of India  
  (9) Interest suspense account in the books of a bank shows _____ balance. 
   (a) Debit (b) Credit  
   (c) Debit or Credit (d) Negative  
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  (10) Which of the following is considered as floating charge creditors ?  
   (a) Debentures (b) Creditors 
   (c)  Government dues  (d) Provident fund 
 (11) How many days notice is to be given when a company has passed resolution for 

voluntary winding-up ?  
   (a) 14 days  (b) 5 days 
    (c) 30 days  (d) 10 days  
 (12) The liquidator has a cash balance of ` 7,91,967 after paying to debenture holders. 

3% remuneration is payable to liquidator on the amount paid to unsecured 
creditors. What amount would be receivable by unsecured creditors ?    

   (a) ` 7,68,900 (b) ` 23,067 
   (c)  ` 7,68,208  (d) ` 23,759 

______________ 
 


